Bis 1ist [Egqz »r1 [L1_, Q1_, P1_]1, Egq2 402 [L2_, Q2_, P2_]] :=
E (diUcComplement [d2,is]) - (r2UComplement [r1,is]) aa
Bis[E[L1, Q1, P1], E[L2, Q2, P2]];

Eg1 or1 [L1_,Q1_, P1_]1// Edz2 »r2 [L2_, Q2_, P2_]
Brindz [Eq1-r1 [L1, Q1, P1], Eg2,r2[L2, Q2, P2]];
Eg1 »r1 [L1_,Q1_, P1_] =Ea 42 [L2_, Q2_, P2_] *:

(d1 ==d2) A (r1=r2) A (E[L1, Q1, P1] = E[L2, Q2, P2]);
Eg; »r1 [L1_,Q1_, P1_]Eag ,r2 [L2_,Q2_, P2 ] ":=

E (d1yd2)»(r1yr2) @@ (E[L1, @1, P1] E[L2, Q2, P2]);
Eg o0 [L_, Q_, P_lgr :=Eg,r@E[L, Q, Plg;
E [&_ _1[1_] :={&}[11;



